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1.Suppose that a 2% increase in price results in a 6% 
decrease in quantity demanded. Own-price elasticity of 
demand is equal to: 

a) 1/3. 
b) 6. 
c) 2 
d) 3. 



 

 

  

2. If own-price elasticity of demand equals 0.3 in absolute 
value, then what percentage change in price will result in a 
6% decrease in quantity demanded? 

a) 3% 
b) 6% 
c) 20%. 
d) 50%. 



 

 

  

3. Suppose you are told that the own-price elasticity of 
supply equal 0.5. Which of the following is the correct 
interpretation of this number? 

a) A 1% increase in price will result in a 50% increase in quantity supplied. 
b) A 1% increase in price will result in a 5% increase in quantity supplied. 
c) A 1% increase in price will result in a 2% increase in quantity supplied. 
d) A 1% increase in price will result in a 0.5% increase in quantity supplied. 

  



 

 

 

4. Suppose that a 10 increase in price results in a 50 
percent decrease in quantity demanded. What does (the 
absolute value of) own price elasticity of demand equal? 

a) 0.5. 
b) 0.2. 
c) 5. 
d) 10. 



 

 

  

5. If goods X and Y are SUBSTITUTES, then which of 
the following could be the value of the cross price 
elasticity of demand for good Y? 

a) -1. 
b) -2. 
c) Neither a) nor b). 
d) Both a) and b). 



 

 

  

6. If pizza is a normal good, then which of the following 
could be the value of income elasticity of demand? 

a) 0.2. 
b) 0.8. 
c) 1.4 
d) All of the above. 

  



 

 

7. If goods X and Y are COMPLEMENTS, the which of 
the following could be the value of cross price elasticity of 
demand? 

a) 0. 
b) 1. 
c) -1. 
d) All of the above could be the value of cross price 
elasticity of demand. 
 



 

 

8.Perfect competition is characterized by all of the 
following EXCEPT  

A) well-informed buyers and sellers with respect to prices.  

B) a large number of buyers and sellers. 

 C) no restrictions on entry into or exit from the industry.  

D) considerable advertising by individual firms. 



 

 

9) Which of the following is the best example of a 
perfectly competitive market?  

A) diamonds  

B) athletic shoes 

 C) soft drinks  

D) farming  



 

 

10) Which of the following market types has the fewest 
number of firms?  

A) perfect competition  

B) monopoly  

C) monopolistic competition  

D) oligopoly  



 

 

11) Which of the following market types has a large 
number of firms that sell similar but slightly different 
products?  

A) perfect competition 

 B) oligopoly 

 C) monopolistic competition  

D) monopoly 



 

 

12) Which of the following market types has only a few 
competing firms?  

A) perfect competition  

B) monopolistic competition  

C) monopoly  

D) oligopoly 



 

 

 

.13 Which of the following is not a method to calculate 
GDP 
(a) Product method 
(b) Income law 
(c) Expenditure method 
(d) Diminishing cost method 
 
 



 

 

 
 
14. The total amount of income from economic 
activities across the country in a year is called ........ 
(a) Disposable income 
(b) National income 
(c) Personal income 
(d) Private Income 
 



 

 

 
15Which of the following statements is correct? 
(a) GDP at factor cost = Net Value Addition + 
Depreciation  
(b) GDP at factor cost = Net Value Addition - 
Depreciation 
(c) GDP at factor cost = Net price increase + indirect tax  
(d) GDP at factor cost = Net price increase + direct tax  
 



 

 

16.Which statement is correct for nominal GDP? 
i. Nominal GDP is calculated based on current prices. 

ii. Nominal GDP is calculated based on the base prices. 
iii. Data on Nominal GDP shows an accurate picture of 

the economy as compared to real GDP. 
(a) Only ii, iii 
(b) only ii 
(c) only i 
(d) i, iii 



 

 

 
 
17. What is the size of India's economy at present on a 
nominal GDP basis? 
(a) US$ 2.93 trillion 
(b) US$ 11.30 trillion 
(c) US$ 3.5 trillion 
(d) None of the above 
 



 

 

 
18. Which sector contributes the most income to 
India's economy? 
(a) Primary sector 
(b) Secondary sector 
(c) Tertiary sector 
(d) None of these 
(d) 2029-30 
 



 

 

 
19.Portion of deposits banks have to park with RBI is 
called ___? 
[A]StatutoryReserveRatio 
[B]CapitalAdequacyRatio 
[C]CashReserveRatio 
[D] CASA Ratio 
 
 



 

 

 
20.Which among the following was the first bank purely 
managed by Indians?  
[A]OudhCommercialBank 
[B]PunjabNationalBank 
[C]BankofIndia 
[D] Allahabad bank 
 
 



 

 

 
21.The OPEC Reference Basket (ORB) does not count the 
Oil produced in ___: 
[A]Angola 
[B]Venezuela 
[C]Mexico 
[D] Iran 
 
 



 

 

 
 
22.Which among the following oil has largest share among 
India’s oil imports? 
[A]CoconutOil 
[B]PalmOil 
[C]MustardOil 
[D] Sunflower Oil 
 



 

 

23.__________ is aimed at promoting exports of services 
from India by providing duty scrip credit for eligible 
support  

a) Services Exports from India Scheme 

 b) Services Exports from States Scheme 

 c) Services Exports Support Scheme  

d) Services Exports Surety Scheme  



 

 

24. ___________ could be in the form of either 
establishing business operations or by entering into joint 
ventures by mergers and acquisitions, building new 
facilities etc. 

 a) Foreign Portfolio Investment  
b) Foreign Direct Investment 
 c) Foreign Institutional Investment 
 d) Foreign Innovative Investment  



 

 

25. Which of the following is / are the component /s of 
business environment?  

a) Political Environment 

 b) Economic Environment  

c) Social Environment  

d) All of the above  



 

 

26. The Competition Commission of India (CCI) was 
established under the _____________  

a) Companies Act, 1956  

b) Competition Act, 2002 

 c) Consumer Protection Act, 1986 

 d) Indian Contract Act, 1872 



 

 

27.Who among the following presented the first Indian 
Union Budget on February 18, 1869 after Indian Budget 
was introduced on April 7, 1860 by the East India 
Company?  

a) Total fund of India  
b) Lord Dalhousie 
 c) Mr. William Bentick  
d) Mr. James Wilson 



 

 

28. ________________ gives power to the government to 
withdraw funds from the Consolidated Fund of India for 
meeting the expenditure during the financial year. 

 a) Appropriation Bill  

b) Finance Bill 

 c) Ordinary Bill  

d) None of the above  



 

 

29. Under which category of banks, Paytm may be 
covered?  

a) Commercial Bank 

 b) Small Finance Bank 

 c) Regional Rural Bank  

d) Payments Bank 



 

 

30. As of September 2018, Department of Financial 
Services (DFS), Ministry of Finance and National 
Informatics Centre (NIC) launched ______________ as 
part of financial inclusion initiative  

a) Jan Dhan Doordarshan 
b) Jai Dhan Doordarshan 
 c) Jan Dhan Drishti  
d) Jan Dhan Darshak 



 

 

31. Which of the following committees recommended for 
opening up of the insurance sector to private players?  

a) Kumarmangalam Birla Committee  

b) Malhotra Committee  

c) N.L. Mitra Committee  

d) Kothari Committee 



 

 

32. Which of the following banks were not established by 
British East India Company? 

 a) Bank of Bengal 

 b) Bank of Bombay  

c) Bank of Madras  

d) Bank of Baroda 



 

 

33. The ______________ is the difference between the 
monetary value of exports and imports of output in an 
economy over a certain period of time.  

a) Balance of trade 

 b) Balance of payment 

 c) Balance of national accounts  

d) Balance of Consolidated Fund of India  



 

 

34.Which of the following does not form part of the Indian 
financial services sector?  

a) Capital markets  

b) Insurance sector  

c) Non-banking financial companies (NBFCs)  

d) Unscrupulous Money lenders 



 

 

 
 
35. Which of the following is not the need for having entrepreneurs in India? 
 a) Entrepreneurs promote capital formation by mobilising the idle saving of the 
people. 
 b) They promote balanced regional development by establishing small-scale 
enterprises in rural, remote and less developed regions.  
c) They help in reducing the concentration of economic power. 
 d) They help in promoting monopoly.  
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1.Balsnehi (Child-Friendly) Police Station’, which was 
seen in the news recently, was inaugurated in which city? 
[A]Mumbai 
[B]Pune 
[C]Ahmadabad 
[D] Varanasi 
 



 

 

 

2. The book titled ‘The Shaurya Unbound’, which was 
released recently, is about which incident? 

[A]2001IndianParliamentattack 
[B]2005Delhiblast 
[C]2008MumbaiAttacks 
[D] 2016 Pathankot Attack 
 



 

 

 
3.What is the term used to refer zero emission of harmful / 
waste substances into the environment? 
[A]CompleteStop 
[B]NetZeroState 
[C]EffectiveZerostage 
[D] Nil Category 
 
 



 

 

 

4. Which Indian company has been announced as the title 
sponsor of Women’s T20 Challenge 2020? 

[A]Byju’s 
[B]Jio 
[C]Airtel 
[D] Sahara 
 



 

 

 

5. Rutuja Bhosale, who was seen in news recently, is 
associated with which sports? 

[A]Chess 
[B]Tennis 
[C]Badminton 
[D] Hockey 
 



 

 

 

6. Who has been named as the ICC Male Cricketer of the 
Decade and ODI Cricketer of the Decade? 

[A]MSDhoni 
[B]ViratKohli 
[C]SteveSmith 
[D] David Warner 
 



 

 

 

7. What is the name of India’s first indigenous aircraft 
carrier? 

[A]INSVikramaditya 
[B]INSRajput 
[C]INSKolkata 
[D] INS Vikrant 
 



 

 

 

8. Recently, which bank has launched a fintech accelerator 
programme? 

[A]HDFCBank 
[B]EquitasSmallFinanceBank 
[C]ICICIBank 
[D] Ujjivan Small Finance Bank 
 



 

 

 

9. Which organisation has launched a new digital 
application named ‘ANANDA’? 

[A]LIC 
[B]PFRDA 
[C]IRDAI 
[D] SIDBI 
 



 

 

 

10. Which multi-national company is to start its first 
manufacturing line in India, along with a subsidiary of 
Foxconn? 

[A]Apple 
[B]Amazon 
[C]Google 
[D] Alibaba 



 

 

 
11. he tenth edition of the National Science film festival is 
inaugurated in which state/UT? 

[A]WestBengal 
[B]Assam 
[C]Tripura 
[D] Uttarakhand 
 
 



 

 

 

12. Which Indian grabbed the highest rank in India, in the 
Forbes’ ranking of 100 most powerful women in the 
world? 

[A]NirmalaSitharaman 
[B]RoshniNadarMalhotra 
[C]KiranMazumdar-Shaw 
[D] Kiran Bedi 



 

 

 
 

13. Satya Paul, who recently passed away, was associated 
with which field? 

[A]Sports 
[B]Politics 
[C]FashionDesigning 
[D] Literature 



 

 

 
14. What is the name of the festival, celebrated across 
Bihar, Jharkhand and Uttar Pradesh in November, 
dedicated to Sun God? 

[A]Chhath 
[B]Dussehra 
[C]KarvaChauth 
[D] Kartik Deep 



 

 

 
 

15. Dev Deepawali’ festival is celebrated in which Indian 
city? 

[A]Varanasi 
[B]Haridwar 
[C]Rishikesh 
[D] Gangotri 
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1.Plural form of memorandum 
(a) Memorand 
(b) Memoranda 
(c) Both (a) & (b) 
(d) None of the above 
 



 

 

 
 
2. Full form of ESOP 
(a) Employee Sale Option Plan 
(b) Employee Stock Option Proceder 
(c) Employee Stock Option Plan 
(d) None of the above 
 



 

 

 
 
3. Memos may relate to 
(a) Show Cause Notice 
(b) Charge – sheet 
(c) Both (a) & (b) 
(d) None of the above 
 



 

 

 
 
4. ……………..is a note or record for future use 
(a) Office circulars 
(b) Office Orders 
(c) Memo 
(d) Memorandum 
 



 

 

 
 
5. What does Office Order do not include? 
(a) Order No 
(b) Subject 
(c) Date 
(d) Undersigned 
 



 

 

 
 
6. What does a circular do not include? 
(a) Circular No 
(b) CC 
(c) Date 
(d) Undersigned 
 



 

 

 
 
7. …………………is used for disseminating information 
to a large number of employees. 
(a) Office Circulars 
(b) Office Order 
(c) Office Notice 
(d) None of the above 



 

 

 
8. …………………are preferred when one needs to 
convey information in writing. 
(a) Office Order 
(b) Office Note 
(c) Office Circular 
(d) Memorandum 
 



 

 

 
 
9. ..........is devoid of salutation. 
(a) Office Order 
(c) Office Note 
(b) Office Circulars 
(d) Memo Report 
 



 

 

 
10. ………………carry a bold, underlined heading to help 
us identify them 
(a) Office Note 
(b) Memo Report 
(c) Office Order 
(d) Office Circular 
 



 

 

 
11. Passive verb is preferred in which type of Inter - 
department communication 
(a) Office Order 
(b) Memo Report 
(c) Office Note 
(d) Office Circular 
 



 

 

 
12. Format of…………………….differ from company to 
company 
(a) Office Order 
(b) Memo Report 
(c) Office note 
(d) Office Circular 
 



 

 

 
13. .......................does not have salutation and 
complimentary close 
(a) Memo 
(b) Office Order 
(c) Office note 
(d) None of the above 
 



 

 

 
14. …………........is not a type of intra- organizational 
communication 
(a) Advertisement 
(b) Office Order 
(c) Office note 
(d) Office Circular 
 



 

 

 
15 …………………..letters are necessary to be written on 
a letter head 
(a) Office Notes 
(b) Representation to Management 
(c) Correspondence with Regional Office 
(d) Office Orders 
 



 

 

 
16. …………………are used commonly for issuing 
instructions to the staff 
(a) Memos 
(b) Office notes 
(c) Office order 
(d) None of these 
 



 

 

 
17. Office notes are exchange between different 
…………………departments 
(a) Three 
(b) Four 
(c) Five 
(d) Two 
 



 

 

 
 
18. Representation to management does not includes: 
(a) Individual Preference 
(b) Special holidays 
(c) Suggestions for transfers 
(d) Both (a) & (b) 
 



 

 

 
 
19. ……………………have a format Similar to that of 
memorandums: 
(a) Office notes 
(b) Office circulars 
(c) Office orders 
(d) None of the above 



 

 

 
 
20. Replies to representation can be: 
(a) Management could accept respect 
(b) May give an oral reply 
(c) Could issue an office order 
(d) All of the above. 
 



 

 

 
 
21. Disseminate means: 
(a) To cause faster or greater activity 
(b) Respectful request 
(c) Capable of being Perceived 
(d) To Scatter or spread widely 
 



 

 

 
22. The testing or a trial of a Person's conduct, character, 
qualifications or the like means: 
(a) Bipartive 
(b) Meritorious 
(c) Probation 
(d) Inter office 
 



 

 

 
23. Memo, report, office, circulars, staff newsletters, fax 
etc. are the form of 
(a) Non-verbal communication 
(b) Written communication 
(c) Oral communication 
(d) Audio-visual communication 
 



 

 

 
24. Which type of inter-departmental communication is 
used when requesting for transfer 
(a) Office Circular 
(b) Representation 
(C) Memorandum 
(d) Office Order 
 



 

 

 
25. Which type of inter-departmental communication is 
used for disseminating information to a large number of 
employees within an organisation? 
(a) Memorandum 
(b) Press release 
(c) Office circular 
(d) Office Order 



 

 

 
26. Which one of the following is correct about office notes? 
(i) Office notes are a form of internal communication between two different 
departments 
(ii) Office notes are put up by sections or departments to higher authorities r 
(iii) The actual layout of the office note is same for all the companies the correct 
option is: 
(a) (i) and (ii) only 
(b) (ii) and (iii) only 
(c) (i) and (iii) only 
(d) All of the above. 



 

 

 
27. ………………….are made in order to voice a 
grievance and to secure a relief. 
(a) Business Communication 
(b) Invoice 
(c) Public Notices 
(d) Representations 
 



 

 

 
28. the term …………has been misunderstood as a part of 
disciplinary proceedings 
(a) Purchase Order 
(b) External Letter 
(c) Call Letter 
(d) Memo 
 



 

 

 
29. Memorandums are preferred when one needs to 
convey information 
(a) Urgently 
(b) In writing 
(c) Telephonically 
(d) Verbally 
 



 

 

 
 
30. Which amongst the following is not included in 
memo? 
(a) Issuing instructions 
(b) Issuing suggestions 
(c) Making requests 
(d) Invitation of wedding 



 

 

 
 
31. office circular includes— 
(a) inviting suggestions 
(b) both a and b 
(c) insisting punctuality 
(d) None of the above. 
 



 

 

 
 
32. warning against strikes comes under_____. 
(a) Office order 
(b) office circular 
(c) memo 
(d) memo form 
 



 

 

 
33. what makes office order different from memorandum? 
(a) purpose 
(b) format 
(c) tone 
(d) both a and c 
 
 



 

 

 
34. in which of the following style and individual 
preference matter? 
(a) office order 
(b) memorandum 
(c) office notes 
(d)none of the above 
 



 

 

 
 
35. Growth is an index of prosperity in trade and industry: 
(a) True 
(b) false 
(c) partly true 
(d) partly false. 
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1. WHICH ARTICLE IS RELATED WITH 
“ABOLITION OF UNTOUCHABILITY”  
A) ARTICLE 20  
B) ARTICLE 19  
C) ARTICLE 18  
D) ARTICLE 17  



 

 

 
2. CONSTITUTION OF INDIA WAS ADOPTED BY 
CONSTITUENT ASSEMBLY ON?  
A. 25 OCTOBER, 1948  
B. 25 OCTOBER, 1949  
C. 26 NOVEMBER, 1948  
D. 26 NOVEMBER 1949  
 



 

 

 
3. WHICH ARTICLE IS RELATED TO EQUALITY 
BEFORE LAW?  
A. ART. 13  
B. ART. 14  
C. ART. 15  
D. ART. 16  
 



 

 

 
4. WHICH ARTICLE IS RELATED TO “EQUAL 
JUSTICE AND FREE LEGAL AID”? •  
A) ART. 39 •  
B) ART. 39 A •  
C) ART. 40 •  
D) ART. 41  
 



 

 

 
5. THE CONSTITUTION OF INDIA IS THE 
LENGHTIEST OF ALL CONSTITUTION OF THE 
WORLD  
A. TRUE  
B. FALSE  
 
 



 

 

 
 
 
6. IN WHICH CONSTITUTIONAL AMMENDMENT ACT SEATS OF LOK 
SABHA WERE INCREASED FROM 525 TO 545?  
A. 21ST CONSTITUTIONAL AMENDMENT ACT, 1967  
B. 24TH CONSTITUTIONAL AMENDMENT ACT, 1971  
C. 25TH CONSTITUTIONAL AMENDMENT ACT, 1971  
D. 31ST CONSTITUTIONAL AMENDMENT ACT, 1973  

 
 



 

 

 
7.WHICH OF THE FOLLOWING IS CALLED “MINI 
CONSTITUTION”  
A. GOVERNMENT OF INDIA ACT, 1935  
B. 42ND CONSTITUTIONAL AMENDMENT  
C. 44TH CONSTITUTIONAL AMENDMENT  
D. GOVERNMENT OF INDIA ACT, 1919  
 



 

 

8. WHICH WRIT IS ISSUED BY HIGH COURT OR 
THE SUPREME COURT TO COMPEL AN AUTHRITY 
OT PERFORM A FUNCTION THAT IT WAS NOT 
PERFORMING?  
A. WRIT OF CERTIOARI  
B. WRIT OF HABEAS CORPUS  
C. WRIT OF MANDAMUS  
D. WRIT OF QUO WARRANTO  



 

 

 
9.THE CONSTITUENT ASSEMBLY FOR UNDIVIDED 
INDIA FIRST MET ON  
A. 6 TH DEC, 1946  
B. 3 RD JUNE, 1947  
C. 20TH FEB, 1947  
D. 9 TH DECEMBER, 1946  
 



 

 

10. WHO AMONG THE FOLLOWING WAS NOT A 
MEMBER OF THE CONSTITUENT ASSEMBLY 
ESTABLISHED IN JULY 1946?  
(A) K.M. MUNSHI  
(B) J.B. KRIPALANI  
(C) MAHATMA GANDHI  
(D) VALLABHBHAI PATEL  
 



 

 

11. THE ‘VISION’ OF THE INSTITUTE OF COMPANY 
SECRETARIES OF INDIA IS  
(A) TO PROMOTE GOOD CORPORATE GOVERNANCE  
(B) TO BE A GLOBAL LEADER IN PROMOTING GOOD 
CORPORATE GOVERNANCE  
(C) TO DEVELOP HIGH CALIBRE PROFESSIONALS 
FACILITATING GOOD CORPORATE GOVERNANCE  
(D) TO BE A GLOBAL LEADER IN GOVERNANCE  
 



 

 

12. THE _____________ IS THE ONLY RECOGNIZED 
PROFESSIONAL BODY IN INDIA TO DEVELOP AND 
REGULATE THE PROFESSION OF COMPANY 
SECRETARIES IN INDIA.  
A. ICAI  
B. ICSI  
C. RBI  
D. ROC  



 

 

 
13.WHICH OF THE FOLLOWING ARE THE 
FUNCTIONS OF THE INSTITUTE OF COMPANY 
SECRETARIES OF INDIA?  
(A) EXAMINATION OF THE OF THE STUDENT  
(B) REGULATION OF TRAINING OF THE STUDENTS  
(C) CONDUCT OF ELECTIONS TO THE COUNCIL OF THE 
INSTITUTE  
(D) ALL OF THE ABOVEEGAL  



 

 

14.THE ICSI, ITS MEMBERS AND THE TEAM ICSI PLEDGE TO 
UPHOLD THE ESTABLISHED PRINCIPLES OF PROFESSIONAL 
ETHICS, VALUES AND STANDARDS AND WILL ALWAYS 
PROMOTE HONESTY AND TRANSPARENCY IN THEIR 
BEHAVIOUR, PRACTICES AND PROCESSES.  
A)ICSI  
B)MEMBERS OF ICSI  
C)TEAM OF ICSI  
D)ALL OF THE ABOVE  

 



 

 

 
15. MINIMUM NO. OF DIRECTORS IN CASE OF A 
PUBLIC COMPANY IS __________.  
A)1  
B)2  
C)3  
D)4  
 



 

 

16.______ IS THE CONCLUSIVE EVIDENCE IN CASE 
OF COMPANY THAT STATUTORY REQUIREMENTS 
HAVE COMPLIED WITH  
A) CERTIFICATE OF INCORPORATION  
B) CERTIFICATE OF COMMENCEMENT OF 
BUSINESS  
C) BOTH  
D) NONE OF THE ABOVE  



 

 

 
17. CAN A COMPANY HOLD AN AGM ON PUBLIC 
HOLIDAY?  
A) YES  
B) NO  
C) A) AND B) ARE CORRECT  
D) NONE OF THE ABOVE  
 



 

 

 
 
18. CAN SEC.8 COMPANIES ALTER THEIR OBJECTS 
CLAUSE  
A)YES  
B)NO  
 



 

 

19. A COMPANY IS NAMED AS GOVERNMENT 
COMPANY IF IT IS HOLDS ______% OF PAID UP 
SHARE CAPITAL  
A) MORE THAN 30  
B) MORE THAN 40  
C) MORE THAN 51  
D) NONE  
 



 

 

20.THEY ADVISE ON ARBITRATION, 
NEGOTIATION AND CONCILIATION IN 
COMMERCIAL DISPUTES BETWEEN THE PARTIES 
AND DRAFTING ARBITRATION/CONCILIATION 
AGREEMENT/CLAUSE. WHO IS ‘THEY’ HER 
A.PCA 
B.CS 
C.PCS 
D.LLB 
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(1-10 MCQs x 2 Marks = 20 Marks)  
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1. Communication is a non stop______________. 
(A) paper  
(B) process  
(C) programme 
 (D) plan 
 



 

 

 
 
2. Communication is a part of ________ skills. 
(A) soft  
(B) hard  
(C) rough  
(D) short 
 



 

 

 
 
3. The _______________ is the person who transmits the 
message. 
(A) receiver  
(B) driver 
 (C) sender 
 (D) cleaner 



 

 

 
 
4._____________ is the person who notices and decodes 
and attaches some meaning to a message. 
(A) receiver  
(B) driver  
(C) sender  
(D) cleaner 



 

 

 
 
5. Message is any signal that triggers the response of a 
_________ 
(A) receiver  
(B) driver 
 (C) sender  
(D) cleaner 



 

 

 
 
6. The response to a sender’s message is called _________ 
(A) food bank  
(B) feedback  
(C) food  
(D) back 
 



 

 

 
7. ___________ context refers to the relationship between 
the sender and the receiver 
(A) social  
(B) physical  
(C) cultural  
(D) chronological 
 



 

 

 
8. ___________ context refers to the similarity of 
backgrounds between the sender and the receiver. 
(A) physical  
(B) social  
(C) chronological  
(D) cultural 
 



 

 

 
 
9. _________ refers to all these factors that disrupt the 
communication. 
(A) nonsense  
(B) noise  
(C) nowhere  
(D) nobody 



 

 

 
 
10.Environmental barriers are the same as ______ noise. 
A) physiological  
(B) psychological  
(C) physical  
(D) sociological 
 



 

 

 
11. Our dress code is an example of _____________ 
communication. 
(A) verbal  
(B) nonverbal  
(C) written  
(D) spoken 
 



 

 

 
12.Communication strengthens _______ & 
______________ relationship is an organization. 
(A) employer-father  
(B) employer-employer  
(C) mother-employer  
(D) mother-child 
 



 

 

 
13._______________ communication includes tone of 
voice body language, facial expressions etc. 
(A) non verbal  
(B) verbal  
(C) letter  
(D) notice 
 



 

 

14.When there is similarity of background between the 
sender and the receives such as age, language nationality, 
religion, gender then this is called _____________ 
context. 
(A) social  
(B) cultural  
(C) physical  
(D) dynamic 



 

 

 
15.Letter, e-mail telephone are examples of __________ 
(A) message  
(B) feedback  
(C) channel  
(D) encoding 
 
 



 

 

 
16.Understanding __________different parts of speech 
forms the base of leaning grammar 
(A) Five  
(B) Eight  
(C) Six  
(D) Seven 
 



 

 

 
17.It is of paramount importance that one need to 
construct a __________sentence in the day to day affairs 
(A) Wrong  
(B) Correct  
(C) Incorrect  
(D) Night 
 



 

 

 
18.A__________may be defined as the name of a person 
place or thing 
(A) Verb  
(B) Noun  
(C) Pronoun  
(D) Adverb 
 



 

 

 
19.According to hoben “communication is the _____ 
exchange of thought or idea. 
(A) Visual  
(B) Audio  
(C) Verbal  
(D) Written 
 



 

 

 
20.The person who transmits the message is called the 
____ 
(A) Sender  
(B) Gives  
(C) Taker  
(D) Receiver 
 
 
 



 

 

 
 
 

         NKJ CSEET MARATHON TEST SERIES -12 

                     LOGICAL REASONING 
(1-10 MCQs x 2 Marks = 20 Marks)  

(11 -15 MCQs x 1 Mark = 05 Marks) 



 

 

1 - Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options − 
A - db 
B - centimetre 
C - quadraphonic 
D - quad 



 

 

2 - Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options − 
A - Swans 
B - Geese 
C - Duck 
D - Cuckoo 



 

 

3 - Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options − 
A - Mercury 
B - Bronze 
C - Silver 
D - Iron 



 

 

4 − Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options : 
A - Ego 
B - Anger 
C - Miser 
D - Brave 



 

 

5 − Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options : 
A - CPU 
B - Computer 
C - Monitor 
D - Keyboard 



 

 

6 − Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options : 
A - Kilogram 
B - Heavy 
C - gram 
D - pound 



 

 

7 − Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options : 
A - Cold 
B - Hot 
C - Semi cold 
D - Autumn 



 

 

8 − Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options : 
A - Moon 
B - Sun 
C - Sky 
D - Jasmine 



 

 

9 − Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options : 
A - Gita 
B - Bible 
C - Koran 
D - Jainism 



 

 

10 − Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options : 
A - Chin 
B - Tongue 
C - Ear 
D - Eyes 



 

 

11 − Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options : 
A - Water-fall 
B - Stream 
C - Lake 
D - Mountains 



 

 

12 − Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options : 
A - Snow 
B - Fog 
C - Smoke 
D - Steam 



 

 

13 − Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options : 
A - Helping 
B - Corruption 
C - Donating 
D - Caring 



 

 

14 - Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options : 
A - Reader 
B - Publisher 
C - Printer 
D - Writer 



 

 

15 - Three of the following four are same in a certain 
way and hence form a group. Find out the one which 
does not belong to that group. 

Options : 
A - Bus 
B - Train 
C - Tram 
D - Tractor 



 

 

 
 
 
 
 
 
 
 



 

 

 
 
 
 
 
 
 
 



 

 

 

                             ECONOMICS  
             AND BUSSINESS ENVIRONMENT 
 

1 D 2 C 3 D 4 C 5 C 
6 C 7 C 8 D 9 D 10 B 
11 C 12 D 13 D 14 B 15 A 
16 C 17 C 18 C 19 C 20 B 



 

 

21 C 22 B 23 A 24 B 25 D 
26 B 27 D 28 A 29 D 30 D 
31 B 32 D 33 B 34 D 35 D 
 
 
 
 
 
 
 
 
 
 



 

 

 
 

                              CURRENT AFFAIRS 
 

1 B 2 A 3 B 4 B 5 B 

6 B 7 D 8 B 9 A 10 B 

11 C 12 A 13 C 14 A 15 A 
 
 
 



 

 

                  BUSSINESS.COMMUNICATION  
 

1 B 2 C 3 C 4 D 5 B 

6 B 7 A 8 D 9 B 10 C 

11 A 12 C 13 A 14 A 15 C 

16 A 17 D 18 A 19 C 20 D 



 

 

21 D 22 C 23 B 24 D 25 C 

26 A 27 D 28 D 29 B 30 D 

31 C 32 C 33 D 34 C 35 A 
 
 
 
 
 
 
 
 



 

 

                                       LEGAL APTITUD 
 

1 D 2 D 3 B 4 B 5 A 

6 D 7 B 8 C 9 D 10 C 

11 B 12 B 13 D 14 D 15 C 

16 A 17 B 18 B 19 C 20 C 
 
 



 

 

                                   PRESENTATION SKILLS 
 

1 B 2 A 3 C 4 A 5 A 

6 B 7 A 8 D 9 B 10 C 

11 B 12 B 13 A 14 B 15 C 

16 B 17 B 18 B 19 C 20 A 
 
 



 

 

                        LOGICAL REASONING 
 

1 A 2 A 3 A 4 A 5 D 

6 D 7 D 8 D 9 C 10 A 

11 A 12 B 13 C 14 A 15 D 
 

 
 
 
 



 

 

 
 
 
 
 

   Thank you  
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